AR BRERRY (B2 £)

111# % 2%
S 1 SO EXS MR e S B
P T [ 5 [ = [ & [ % [ = [ & T 5 T =
kA 32,794 28,609 4,185 1,957 1,758 199 1,827 1,676 151 130 82 48
FBAR 23,775 20,236 3,539 1,651 1,482 169 1,570 1,437 133 81 45 36
< B%k A R 9,001 8,355 646 306 276 30 257 239 18 49 37 12
= 18 18 ] ; - ; - - - ] ; ]
B k2R 569 471 98 107 83 24 101 80 21 6 3 3
3 O) 560 462 98 103 82 21 97 79 18 6 3 3
~ B4R - - - 4 1 3 4 1 3 - -
ik 9 9 - - - - - - - - -
AL & 4,757 4,128 629 286 258 28 277 254 23 9 4
EEB AR 4,757 4,128 629 286 258 28 277 254 23 9 4
v BA R - - - - - - - - - - -
LR { PR 3,349 2,811 538 263 240 23 257 238 19 6 2
& l%k A R 3,335 2,807 528 261 240 21 255 238 17 6 2
> B AR 14 4 10 2 - 2 2 - 2 - -
3L & 4,317 3,297 1,020 275 237 38 268 235 33 7 2 5
& l%k A R 4,317 3,297 1,020 269 234 35 263 232 31 6 2 4
> B AR - - - 6 3 3 5 3 2 1 - 1
LWL F 1,895 1,595 300 149 132 17 144 131 13 5 1 4
] L%k A B 1,895 1,595 300 148 132 16 144 131 13 4 1 3
< L%k A B - - - 1 - 1 - - - 1 - 1
SR - - - - - - - - - - - -
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3+ g ~ e g | =+ i I R > | 3
EE LSS 5,976 5,289 687 327 304 23 318 301 17 9 3 6
A Eﬁk A R 5,976 5,289 687 327 304 23 318 301 17 9 3 6
> 1,%&, A ﬁ - - - - - - - - - - - -
L STPAR © 847 802 45 130 117 13 122 112 10 8 5 3
A l%k A R 847 802 45 130 117 13 122 112 10 8 5 3
2 B A B - - - - - - - - - - - -
TR A & 8,600 8,084 516 274 264 10 230 227 3 44 37 7
A l%k | 328 322 6 33 31 2 28 27 1 5 4 1
© B A B 8,263 7,753 510 241 233 8 202 200 2 39 33 6
R 9 9 - - - - - - - - - -
A% 1,473 1,298 175 138 119 19 104 94 10 34 25 9
A l%k | 869 805 64 89 81 8 61 60 1 28 21 7
v B A B 604 493 111 49 38 11 43 34 9 6 4 2
Al A 1,011 834 177 8 4 4 6 4 2 2 - 2
A E%k | 891 729 162 5 3 2 5 3 2 - - -
2 E%k | 120 105 15 3 1 2 1 1 - 2 - 2
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ke A 100.0 87.2 12.8 100.0 89.8 10.2 93.4 85.6 7.7 6.6 4.2 25
FEAR 100.0 85.1 14.9 100.0 89.8 10.2 95.1 87.0 8.1 4.9 2.7 2.2

2 BAR 100.0 92.8 7.2 100.0 90.2 9.8 84.0 78.1 59 16.0 121 3.9
ERREES 100.0 100.0 - - - - - - - - - -
B k2R 100.0 82.8 17.2 100.0 77.6 22.4 94.4 74.8 19.6 5.6 2.8 2.8
-6 100.0 82.5 17.5 100.0 79.6 20.4 94.2 76.7 17.5 5.8 2.9 2.9

v BAR - - - 100.0 25.0 75.0 100.0 25.0 75.0 - - -
ERREES 100.0 100.0 - - - - - - - - - -
AL & 100.0 86.8 13.2 100.0 90.2 9.8 96.9 88.8 8.0 3.1 14 1.7
FEAR 100.0 86.8 13.2 100.0 90.2 9.8 96.9 88.8 8.0 3.1 14 1.7

* B4R . - . - . - - - - - - -

LR { PR 100.0 83.9 16.1 100.0 91.3 8.7 97.7 90.5 7.2 2.3 0.8 15
FEE AR 100.0 84.2 15.8 100.0 92.0 8.0 97.7 91.2 6.5 2.3 0.8 1.5

> BAR 100.0 28.6 71.4 100.0 - 100.0 100.0 - 100.0 - - -
3L & 100.0 76.4 23.6 100.0 86.2 13.8 97.5 85.5 12.0 25 0.7 1.8
FE AR 100.0 76.4 23.6 100.0 87.0 13.0 97.8 86.2 115 2.2 0.7 1.5
2B R - - - 100.0 50.0 50.0 83.3 50.0 33.3 16.7 - 16.7
LWL F 100.0 84.2 15.8 100.0 88.6 114 96.6 87.9 8.7 3.4 0.7 2.7
B AR 100.0 84.2 15.8 100.0 89.2 10.8 97.3 88.5 8.8 2.7 0.7 2.0

2 B4R - - - 100.0 - 100.0 - - - 100.0 - 100.0
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EE LSS 100.0 88.5 11.5 100.0 93.0 7.0 97.2 92.0 52 2.8 0.9 1.8
’ﬁ%\: A R 100.0 88.5 115 100.0 93.0 7.0 97.2 92.0 5.2 2.8 0.9 1.8
> 1,%&, A ﬁ - - - - - - - - - - - -

La sk 100.0 94.7 53 100.0 90.0 10.0 93.8 86.2 7.7 6.2 3.8 2.3
A l%k A R 100.0 94.7 5.3 100.0 90.0 10.0 93.8 86.2 7.7 6.2 3.8 2.3
2 B A B - - - - - - - - - - - -

TR A & 100.0 94.0 6.0 100.0 96.4 3.6 83.9 82.8 11 16.1 135 2.6
A l%k | 100.0 98.2 1.8 100.0 93.9 6.1 84.8 81.8 3.0 15.2 121 3.0
© B A B 100.0 93.8 6.2 100.0 96.7 3.3 83.8 83.0 0.8 16.2 13.7 2.5
TR 100.0 100.0 - - - - - - - - - -

A% 100.0 88.1 11.9 100.0 86.2 13.8 75.4 68.1 7.2 24.6 18.1 6.5
A l%k | 100.0 92.6 7.4 100.0 91.0 9.0 68.5 67.4 11 31.5 23.6 7.9
v B A B 100.0 81.6 18.4 100.0 77.6 224 87.8 69.4 18.4 12.2 8.2 4.1

b Sy e S 100.0 82.5 17.5 100.0 50.0 50.0 75.0 50.0 25.0 250 - 25.0
A E%k | 100.0 81.8 18.2 100.0 60.0 40.0 100.0 60.0 40.0 - - -
2 E%k | 100.0 87.5 125 100.0 33.3 66.7 33.3 33.3 - 66.7 - 66.7
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